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3. Suppose preferences are represented by the Cobb-Douglas utility function, u(x,y) =
Ax®y'™%, 0 <a <1, and A > 0. Assuming an interior solution.

a. (8 7; ) Solve for the Marshallian demand functions.
b. (8 % ) Solve for the Hicksian demand functions.

4. Suppose preferences are represented by v(x,y) = InAx%*y™®, 0<a <1, and A > 0.
Assuming an interior solution.

a. (8 % ) Solve for the Marshallian demand functions.
b. (8 ,% ) Solve for the Hicksian demand functions.
c. (8 % ) Compare your answers to Q.3, verify that they are identical and explain why.

d. (10 % ) Show that the same result can be achieved for any f(u(x)), where f' > 0.




